13 >IN 97

'3 900N N"ywn 88 — 201

0 € R W3y a(p) = (cosh @, 0, @) DLIPYD 7% 313>DD NOVY 9y 90D 1 9990
L0PI093 D797 MOIDIR MYD? IRTD) DNPY 703 DN DPDIDPY MR 13VN R

DOYOD 7Y ATDD DIRY HIMDIVDY N 3VN .3

a(d) = (9,0,¢%) IPYD 29 313D NOYD ¥ RTNOD DR} IVVDPY IR \3WN 2 99390
¢ € [0, 00] W3y

WM p > 0% 3 Dan
1

1+ 2(22 4+ y?))

.f(x,y) = (

Gij (T, y) = f2(2,1)0;; TPI0VD TV DIRY INDIDPY AR 13WN

Sz, y) = 322 +8xy — 3y? W0 z = f(x,y) 99 9N MY Yo nown M C R34 9aan

R399 0O DYWIN (e, €9, €3) YW
DI UK f 99 Hp JRODD ISI00 WD R

IOV (T, ) W3 MD8Y WOPY ©; WY LH [ 90 DYDY DO (1= 1,2 WRD) A v 3
DWPY W ;7Y eg MY VIO (@ = 1,2) E; C R3 www vy L oy WY
i = M N E; My v C R3

DODED THURIS 3, IIDIPYDY HNN 72D 29 THDIDHD IVDIDPYD IR RS

TOWRA3 M 99 DIRY DIVDIDPY DRY BIVED HWURI3 M 9% 10 WO DYDY IR 3VN L)
DM

DOVYD THWRIS M 99 IDEIDDD IVDIODPYD DK 13WN 3



MONPYY WSPNO f(x, y) o C' > 0 5 9990

f(xvy) ZC($2+y2), f(0,0):O

DMED THIWYRIZ [ 99 IRIDDD W WYY T 907 PNINN BON RV R

DVED THIYRIZ [ 99 1D 7Y DIRY INDIODPDY? ZNHINN BON K0T 3

6 YN

DYVED THVRI? N3 D3NPD C ATIPIZY IRIDT MM 7Tt vy C C R? an X
FOVUDD MOPI? DIRD KID NOPY-DPTIR

IRV DIVED OVRID AN AP M 9y P anmv ™R3 =3 w0 nowy M oy 3
DM M W IYHVD AMDDPY W YD P D3 M 9 DIRY INVDIDYRY 7V ypID
P



